Introduction

Vectors:

e Statics and Dynamics

e Physics
o Geometry
e Computer solutions
[ ]

F

gy r

1 1 1
4 ¥
Properties:

e The vector above as a list of numbers:

F:f:X:<;l> or 71 =27 =xT = (4,2)

If the list is written vertically, the vector is called a column vector; if it is written
horizontally, it is a row vector. An m-dimensional row vector is equivalent to a 1 X n
size matrix; an n-dimensional column vector to a n X 1 matrix,

e Components of the vector above: M =r, =1 = =4, 19 =1, =29 =y = 2.

o Addition of vectors:
r+=

(4,2) + (1,3) = (4 + 1,2+ 3) = (5,5).



e Multiplication of a vector by a scalar:

F
| ) 4

2k r

1 1 A 1 1 T
1.5(4,2) = (1.54,1.5 2) = (6, 3).
e Length or norm of a vector:

F

g r
1 1 A T

— Definition:

|| = |d| = a = \Ja2 + a2+ a2 + ...
— Unit vectors: Unit vectors have length one.

— Distance: The distance between two points 7 and 75 is by definition |75 — 7]]:

e Dot (scalar) product:

— Definition: . .
a-b=ayb, +ayb, +ab, + ... =||d]| ||b]| cos



— Orthogonality: If the dot product is zero, the vectors are by definition orthogonal
to each other.

— Length: ||d|| = Va - a.

e Projection:




1.41

1 1.41, §1 Asked

Given: The vectors
u=(1,-2,4) v=(3,5,1)

Asked: various.

2 1.41, §2 Solution

i=(1,-2,4) =351

Sum:
3 —20=(31-23,3(-2)—2534—21) = (—3,-16,10)

Dot product:
U-v=134+(-2)5+41=-3

Norm or length:

||ﬁ||:\/12+(—2)2+42:,/21 17]| = V32 + 52 + 12 = v/35

Angle between vectors:

cos(¥) = - &/(|d]| ||5]]) = —3/v21V35 = —3/(TV15)

Distance between the end points:

(@, ) = |[i — 7| = [[(~2,~7.3)]| = VAT 491 9 = V2

Projection:

proj(a, v) = (a - o/|[v]|)(v/[[7]]) = (=3/35)(3,5,1) = (=9/35, =3/7, =3/35)



Basis vectors

Base vectors:

e Writing an example vector as a combination of the base vectors 7 and }:

F
2 r
TT L1 1
2 ¢ 7
1
7= 4i+2j

o Addition:

r+=

43+ 2)+ 10 + 3) = 5i + 5j.

e Multiplication by a scalar:

1.5(472 4+ 27) = 61 + 3).

e Dot (scalar) product:







1.48(a)

1 1.48(a), §1 Asked

Given: The vectors
7=(2,5) u; = (1,2) Uy = (3,5)

Asked: Write ¢ as a linear combination at/; + bily, i.e., find a and b so that v = at; + bis
2 1.48(a), §2 Solution

T=(2,5) @=(1,2) ib=(35)

Write ¢ as a linear combination au; + b, i.e., find a and b so that v = au; + bis
2 1 3 la + 3D
(3) e (2) () - (a30)

a + 3b =2 (1)
20 + 50 = 5 (2)

Eliminate a from equation (2) by substracting 2 times (1):

a + 3b = 2 (1)
0 — b =1 (2)=(2)—2(1)

Solve from the bottom up, (2’) giving that b = —1 and then (1) giving that a = 5.



1.54

1 1.54, §1 Asked

Given: The vectors R
=21+5)— 3k

St

@ =31—47+ 2k

Asked: Various

2 1.54, §2 Solution

Given: ) )
u=31—4)+ 2k v=20+5)—3k

Sum: ) ) X
20 — 30 =61 — 8) + 4k — 61 — 15) + 9k = —23j + 13k

Dot product: R
w-v=(3t—47+ 2k) -

( J
Use the fact that i-i=j-j=k-k=1landi-j=)-k=4k-1=0:

=324040-0-45+0-0+0—-23=-20

£y

Norm or length:

@] = V@ - @ = /(31 — 4j + 2k) - (30 — 4] + 2k)
Multiply out as before:

@] = /32 + (—4)2 + 22 = V29



Hyperplanes

A hyperplane in R" (n-dimensional space) is the collection of points satisfying a single scalar
linear equation:
a1x1 + asxo + ...+ apr, = d

ie.
n-r=d = (a1, as,...,a,)
7
ry
_.'D
r
&7

£

3D: A plane:
ar +by +cz=d

2D: A line:

ar +by =d



1.55(a)

1 1.55(a), §1 Asked

Given: The point P with 7p = (1,2, —3) and the vector N =3i— 47+ 5k.

Asked: The equation for the plane through P and normal to N.
2 1.55(a), §2 Solution

7p=(1,2,—-3) N =3i—4j+5k
In general
7-N=7p-N
where 7= (z,y,2) =21+ yj + k.
Plug in the numbers and dot out:

dr—4y+52=13-24-35=-20



Lines

Line through point P parallel to vector s

—

F=7p+ \§

This applies to any number of dimensions.



1.56(b)

1 1.56(b), §1 Asked

Given: The plane 2z — 3y + 7z = 4 and the point P with coordinates (z,y, z) = (1, —=5,7).

Asked: The parametric equation for the line ¢ through P and normal to the plane.

2 1.56(b), §2 Solution

Plane 2z — 3y 4+ 7z = 4 and the point (1, —5,7).

In general, the equation for the line through P is
7=7p+ \§

where § is any nonzero vector in the direction of the line.

The line is given to be normal to the plane, so the direction of the line is the direction of a
normal vector to the plane, which can be picked out of the equation:

F=(2,y,2) = (1,=5,7) + M2, —3,7) = (1L + 2\, =5 — 3X\, 7+ 7A)



Curves

Curves in R™: 7= 7(t) with ¢ the parameter. The unit tangent to the curve is T = #/||F]].



1.57

1 1.57, §1 Asked

Given: X
7=t — 127+ (2t — 3)k

for 0 <t <5.

Asked: (a) Find the point P on the curve curresponding to ¢t = 2. (b) Find the initial point
Q and the terminal point Q’. (c¢) Find the unit tangent vector 1" to the curve when ¢t = 2.

2 1.57, §2 Solution

~

7=t — 127+ (2t — 3)k

>

for 0 <t <5.
Point P: When t =2, 7= (8, —4,1).

At end point Q, t =0, 7= (0,0, —3); at end point Q’, t =5, 7= (125, —25,7).

Vector T is proportional to

3t2

dr’
dt



Then
dr

L d7
T="1/|—
dt/ dt

3t2
— | o /\/9t4 NTEE
9

At t =2 - 6/\/@
7= ( 4)/\/144+16+4 ( 2/@)
2 1/v/41



Tangential planes

Tangent planes to a surface F(x,y,z) = 0 at a point P on the surface:
where N can be taken as the gradient VF' of F":

N = (0F/0z,0F /0y, 0F/0z)



1.59(b)

1 1.59(b), §1 Asked

Given: The hyperboloid of one sheet
2?2 4+ 3y* — 5% = 160
and the point P with position vector (3,-2,1) on that hyperboloid.

Asked: A normal vector N to the surface at P and the tangent plane at P.

2 1.59(b), §2 Solution

22+ 3y =522 =160 P =(3,-2,1)
Correct problem:
2?43y -5 =16 P =(3,-2,1)

Bring equation of surface in standard form (zero right hand side):

2? +3y* — 52 — 16 = F(z,y,2) =0

A normal vector to a surface in standard form is given by the gradient of F:

2x
%—% —10z

SE
N—

At P, (z,y,2) = (3,-2,1), so:

Tangent plane:



or
6r — 12y — 102 =63 — 12(—2) — 101 = 32

Can divide by 2 to simplify:
3r — 6y — bz =16



Cross products

Cross (or vector) product @ x b (in 3D only):

ax
| T
e
Magnitude: . .
|l@ x bl| = [|a]|[b]| sin

Direction: @ x b is normal to both @ and b.

~

Lo vk )
axb=|a; ay as |=1(abs — agbs) + j(asby — a1bs) + k(ai1by — ashy)
bi by b

Reminder: Evaluating small determinants:

la| = a i;’:ad—bc :?i
a b c
d e f|=aet+bfg+cdh —afh —bdi— ceg
g h 1
LY R VAN A
d % XX £ |
g J X|X Rt



1.64(a)

1 1.64(a), §1 Asked

Given: The vectors
v=(1,2,3) w=(1,-1,2)

Asked: A unit vector @ normal to these two.

2 1.64(a), §2 Solution

7=1(1,2,3) w=(1,-1,2)

If we cross v and W, we get a vector normal to them. If we divide that cross product by its
length it will become a unit vector:

PGk )
Uxw=|1 2 3|=0i22-3(-1)+jB1-12)+k(1(-1)-21)=(7,1,-3)
1 -1 2

g U X W _ (7,1,-3) _ -
[Fxall ~ 7+ 2t (-3 (7/v/59,1/+/59, —3/+/59)




Introduction

1 General

The most usual representation of systems on computers and elsewhere is using matrices. Finite
element problems, dynamics, fluid mechanics, ..., are almost always matrix problems for the
computer.

A matrix A is a table of numbers:

ap; Qa2 @iz ... Qin
(21 Q22 A23 ... Q2pn
A= az; Gz2 A3z ... Qa3p
Am1 Am2 Am3 ... Amn

An m x n matrix consists of n column vectors (the columns), or equivalently of m row vectors
(the rows).

Conversely, a column vector is equivalent to a matrix with only one column and a row vector
is a matrix with only one row.

Square matrices are matrices with the same number of rows as columns.

Index notation:
A ={a;} (t=1,....m;5=1,...,n)

where {-} indicates “the collection of values” or “set of values”.

2 Scalar multiplication

Multiplying a matrix by a scalar (i.e. a number) means multiplying each coefficient by that
scalar:

kall ka12 k’alg c. kaln
ka21 kagz kagg c. kagn
kA = ka31 /{?CL32 /{ZCL33 . l{?agn
kami kame kams ... kamn

Just like for vectors.

Scalar multiplication in index notation:

B =FkA = b;j = ka;; for all 7 and j



3 Addition

Summation of two matrices adds corresponding coefficients:

a1 +bin aig+bia az+biz ... a, +biy,
a1 +bo1  age +bay  ags+beg ... ag, + by
A+ B= asi +bs1  aszp+bza  asz+bsz ... as, + b3,
Am1 + bml Am?2 + bm2 Am3 + bm3 coe Qmp + bmn

(just like for vectors.) The matrices must be of the same size.
Summation in index notation:

C=A+B - cij = a;j + b;j for all 7 and j

4 Zero matrices

Zero matrices have all coefficients zero. Adding a zero matrix to a matrix does not change
the matrix.



2.37(b)

1 2.37(b), §1 Asked

Given:
1 2 5 0
(s 2) (57
Asked:
2A+ 3B
(3, not 32).

2 2.37(b), §2 Solution

12 50 2 4 15 0 17 4
2(3—4>+3<—6 7>_<6—8>+<—18 21)‘(—12 13)



Matrix multiplication

1 General

Matrix multiplication is defined in terms of the row-column product:

ayj; a2 aiz ... dip

bll blj bln
_ _ _ _ bar ... bgj R /5
C = AB = : : : : b31 bgj bgn
Aip Q2 A3 ... Qip : : : : : :
byt oo by oo oer by
Am1 Am2 Am3 ... Cme
Clt -+ .. ... Cin
C =
Cij
Cnl +++ oo oo Cmn

where
Cij = ailblj + a/inQj + ...+ aipbpj

In other words, ¢;; is the dot product of the i-th rou-vector of A times the j-th column-vector
of B:

— =T p 2T . p =T =T
al ay ~by @ by by a - b,
il il by Gl -by G- by b,
=T — — — - =T ' =T T =T 7 =T 7
AB = ag ( b1 b2 b3 P bn ) == as - bl CL3 : bQ CL3 b3 as - bn
ay, a b, al by al b a b
m 1 m = Y2 m " Y3 m * On

The dots in the above product can be omitted since the matrix product of a row vector times
a column vector is by definition the same as the dot product of those vectors.

Multiplication in index notation:

C=AB — Cij = Zaikbkj for all 4 and j
2

The summation is over neighboring indices.



For matrices to be multiplied, the second dimension of A must be the same as the first
dimension of B.

Matrix multiplication does not ordinarily commute:

AB +# BA

2 Unit matrix

The unit (or identity) matrix [ is like the number 1 for numbers: multiplying by I does not
change a matrix.

Form of the unit matrix:

1 0 ... 0
010 ...0
7= 0 01 0
000 1

Index notation
The tensor d;; is called the Kronecker delta.



2.38(b)

1 2.38(b), §1 Asked

Given:
1 2 5 0 1 -3 4
a=(5 %) B (%0) e=(h @ %)

BC and A(BC)

Asked:

2 2.38(b), §2 Solution

5 0\ (1 -3 4
BC‘(—ﬁ 7)(2 6 —5)
_( 51402 5-3+06 5440 —5
"l 61472 6 3476 —64+7 -5

(5 —15 20
—\ 8 60 —59
1 2 5 —15 20
A<BO):<3 —4><8 60 —59)

(21 105 —98
—\ —17 —285 296



Transpose matrices

1 General

Transposing a matrix turns the columns into rows and vice-versa

a1 a12 e A1p
ajp Q21 asr ... Gaml
a921 a92 ce A9y, a a a a
12 22 32 - m2
A= a3 azx ... a3z, | AT =
Q1p A2p A3n ... Amp
Am1 Am2 ... Omn

Similarly, transposing turns a column vector into a row vector and vice-versa.

Another way of thinking about it is that the elements are flipped over around the “main
diagonal”, which runs from top left to bottom right:

a11 Q12 a3 ... Qip
21 22 Q23 ... QA2p
a31 32 asz| ... Q3p
(07951 an2 an3 ce. Ann

(The sum of the elements on the main diagonal is called the trace of the matrix.)

Note that (AT)T — A

Transpose in index notation:

az;- = aj; for all 7 and j
Note that in index notation, the main diagonal consists of the elements where i = j. These
stay put during transposing.

Transposing matrix products:
(AB)T = BTAT

For complex matrices, the normal generalization of transpose is “Hermitian conjugate”, where
you take the complex conjugate of each complex number, in addition to interchanging rows

and columns: A" = AT or a/] = a;;.



2 Special matrices

Symmetric matrices satisfy

ST =5

Symmetric matrices are very common in engineering. For example, most statics deals with
symmetric matrices, as does solid body dynamics, and a lot of the simpler fluid flows.

”

Complex matrices for which A¥ = A are called “Hermitian matrices.” The complex Fourier

transform is really a Hermitian matrix.

Skew-symmetric matrices satisfy
K'=-K

Skew-symmetric matrices determine the velocity field in solid body motion, and other fields
involving cross products.

Diagonal matrices have only nonzero elements on the main diagonal:

d: 0 0 ... O
0 dy 0 ... 0
D = 0 0 dss ... 0
0O 0 0 ... dy

An example is the unit matrix. In index notation, a matrix is diagonal iff d;; = 0 if ¢ # j.

Upper triangular matrices have only nonzero elements on and above the main diagonal:

Uyl Uiz U3 ... Ulp
0 U929 U923 ... U2p
U = 0 0 wuss ... us,
0 0 0 ... up
In index notation, u;; = 0 if j < 1.
Lower triangular matrices:
Iy 0 0 0
L=\ lan ls2 I3 0
lnl ln2 ln3 lnn

In index notation, l;; = 0 if j > 7.

The transpose of an upper triangular matrix is a lower triangular one and vice-versa.



2.40(b)

1 2.40(b), §1 Asked

Given:

sy
I

(57)

Asked:

2 2.40(b), §2 Solution

(5 0 (5 —6
B_<—6 7) = B‘(o 7)



Inverse Matrices

1 General

Inverse matrices are like inverses for numbers:
AAT =ATTA=1T
Note that (A7) = A.
The inverse only exists when the determinant of the matrix, |A|, is nonzero.

To get the inverses of small matrices, you could use the procedure of taking “minors”. In
index notation:

a; "= (=1)"]A4,/|A]

ij
where A;; is the matrix A after you remove the column and row of element a;;. See the
example problems.

Inverting products:
(AB) ' =pBtA™!

Transposing and inversing commute:

(a7) " = (a)
2 Orthonormal matrices

Orthonormal (orthogonal) matrices are matrices in which the columns vectors form an or-
thonormal set (each column vector has length one and is orthogonal to all the other colum
vectors).

For square orthonormal matrices, the inverse is simply the transpose,

Q—l — QT

This can be seen from:

Q'Q =



aq 4 4e @i Gn
G bR G @ Gn

—| &q e e @ag, | =1
O 4@ 46 @5 n

It can be seen, from inverting the order of the factors, that the rows of a square orthonormal
matrices are an orthonormal set too.

Complex orthogonal matrices are called “unitary”.



2.53(b)

1 2.53(b), §1 Asked

Asked: Find the inverse of

2 3
(33)
2 2.53(b), §2 Solution

a; "= (=1)"]A,/|A]



2.54(a)

1 2.54(a), §1 Asked

Asked: Find the inverse of

W N =

~ Ot N
\_/

2 2.54(a), §2 Solution

Use minors:

112\ "

(125)

1 37

2 5 15 1 2\"

37| |17 13
1 1 2 1 2 11
11 2 137 1 70 |1
125
1 3 7 1 2 1 2 11

2 5| |15 1 2

and since the determinant in the bottom is -1,

1 1 -1
2 =5 3
-1 2 -1

A quicker way to find determinants of large matrices will be given in chapter 3.



Introduction

Determinate linear systems:

e Trusses;

e FEM codes;

Finite difference codes;
e Economics;

e Design optimization;

CAD/CAM;

For a unique solution (under all conditions):

e The number of equations must be the number of unknowns (square matrix A);

Cramer’s rule is useless for anything but very small systems. The general purpose method is
Gaussian elimination (LU-decomposition.)



3.51(a)

1 3.51(a), §1 Asked

Asked: Solve
2+ 3y

br 4+ Ty

2 3.51(a), §2 Graphically

i
Dy Ae=T

One unique solution point (x,y) = (2, —1)

3 3.51(a), §3 Elimination

Gaussian elimination:

2 4+ 3y = 1 (1)
Sv + Ty = (2)
A. Forward Elimination:
Use (1) to eliminate z from (2):
20+ 3y 1 (1)

- Y



Note: you always must keep at least some of the original equation.
B. Back Substitution:

Solve (2’) to find y = —1. Then use that value in (1) to find x = 2.
4 3.51(a), §4 Matrix Form

20 + 3y = 1 (1)

Sv + Ty = 3 (2)

This can be written as

26)-()
(1) ()

More concisely, only write the augmented matrix:

(51s)

( 3 —f } 1 ) E;)) — 2(2) — 5(1)

5 3.51(a), §5 Determinant

or A7 = b where

After elimination:

3
7

|A|:‘§ ‘:27-53:-1



3.51(d)

1 3.51(d), §1 Asked

Asked: Solve

2 3.51(d), §2 Graphically

F
X
dx-gy=1I4
- Fr-Gyp=15
One complete line of solution points y = —2.5 + 0.5z
3 3.51(d), §3 Elimination
Gaussian elimination:
20 — 4y = 10 (1)
3v — 6y = 15 (2)
A. Forward Elimination:
Use (1) to eliminate z from (2):
20 — 4y = 10 (1)
0 = 0 (2") =2(2) — 3(1)

The second equation is trivial.
B. Back Substitution:

Solve (1) to find # = 5 4+ 2y. y can be anything, but for each possible y there is only one
corresponding x.



4 3.51(d), §4 Matrix Form

2r — 4y =
3r — by =
Rewritten:
2 —4110
3 —6115

After elimination:

5 3.51(d), §5 Determinant

2 —4
|A|=| |

3 —6

10
15



Echelon form

When solving equations, we reduce the matrix to echelon form. It is in echelon form when
the first nonzero element, if any, in each row is to the right of the first nonzero element of the
previous row

@..
o of[pP - - -
o0 o [P] . -

o 0 0 0 0 0O

o O O

These first nonzero elements will be called “pivots.”

Example echelon form

0 o0 [6] -3 (2)
00 0 0 (3")

(2—1 3) (1)

Example nonechelon form

2 -1 3 (1)
0 0 [6] -3 (2)
0 0 0 (3")

Another nonechelon form
2 -1 3 (1)
0 0 (2")
0 (3//)

You must reduce your systems completely to echelon form. You may not delete any rows as
the book says.



1.53(c)

1 1.53(c), §1 Asked

Asked: Solve:

Forward elimination:

Echelon form. You must bring it completely to this form.

3 1.53(c), §3 Solution

|

Back substitution: From (3”) nothing, then from (2’), y = 2 + 2z, this in (1) to give z =
3—2(2+22)—-32=-1-"7z

O = DN

3
2
0

o O =

3 ) (1)
—2 (2")
0 (3") = (3") —4(2)



4 1.53(c), §4 Determinant

=1319+285+328—-188-2219-335=0

(G20 NORN
co W N
© 00 W



Gaussian elimination

1 Rectangular systems

e Misdesigned systems;

e Systems with limited forces;

-2

e Statically indeterminate systems;

e Measured data;



e Compression;
e Redistribution;

Matrix shapes:

(1) ()

There may be no solution, a unique solution, or infinitely many solutions, depending on
circumstances.

2 Partial Pivoting

2 3 4|5 (1)
2 4 6 9|10 (2)
1 2456 (3)
1 2467 (4)
2 3 4|5 (1
0 |0 0 1|0 (2)
0 |0 1[1 (3)
0 [0 1 2|2 (4)
I must interchange (2') and (3’) before proceeding.
2 3 45 (1
0 0 1|1 (3"
0 0 0 10 (2))
0 0 1 2|2 (4)
2 3 415 (1)
0 0 1)1 (3)
0 0 0 |T|0 (2))
00 0 |1|1 (4) —(3)



For best accuracy: always use the pivot with the largest absolute magnitude that you can.

(1)
(2)
(3)
(4)

2 3 415

1
2] 4 6 9|10
1
1

2 4 6|7

2 4 5|6

|
|

|

(2] 4 6 910
1
1
1

— —a

© o]~

< O O O

njo o o

Ny
S I | —

©o|—~|o —

< © O O

!000




3 Reduction Algorithm

The following algorithm corrects the one in section 3.6 in the book:

1. Start assuming that the pivot will be the coefficient of the first unknown in the first
equation.

2. If that coefficient is zero, look below the coefficient for one that is nonzero and swap
equations to replace the zero coefficient with the nonzero one.

3. If there are no nonzero coefficients below either, go to the next unknown, i.e. move one
place to the right in the matrix and repeat the previous step. (If there are no more
unknowns, you are done.)

4. With the obtained nonzero pivot, create zeros below it.

5. Go process the submatrix consisting of the remaining equations below the pivot and the
remaining unknowns beyond the pivot in the same way.

What is wrong with the book: Step 1 in the book procedure is impossible if the first row is
zero. Deleting equations or unknowns is a no-no with your instructor. And step 4 may not
be possible since there may not be any equations left after step 3 following the book.



3.54

1 3.54(a), §1 Asked

Asked: Solve:

Forward elimination:

~2| 5 (1)

( 0 7) (2) =(2) —2(1)
0 8 |-8 (3) = (3) — 3(1)
3 |3 (1)

( 0 7) (2))
0 0|0 (3" =7(3) — 8(2)

Echelon form. You must bring it completely to this form.
Back substitution:
From (3"), nothing; from (2'), y = —1; from (1), x = 3.

A unique solution.



3 3.54(b), §3 Asked

Asked: Solve:

Forward elimination:

0 —2 (2)

2
0 0 0 0 (3") = (3') + 2(2)

( 2 322) (1)
1
0

Echelon form. You must bring it completely to this form.

Back substitution:

From (3"), nothing; from (2'), y = 14+22—2¢; from (1), x = 2—2(1+22—2t)+32—2t = —z+2t.

Solution space is 2D.

5 3.54(c), §5 Asked

Asked: Solve (corrected):

RS
Ot W =
[
N
(@) ING2 EETEN
|
NeolN V] o




6 3.54(c), §6 Solution
( 2 4 —5 3) (1)
3 -1 5 4 (2)
5 6 2
Forward elimination:

0 -7 17| =5
0 —14 —14 34 |-—13

(2 453) (1)

0 —7 17| -5 (2)

0O 0 0 0]-=3 (3") = (3") —2(2)

(213 3) (1)

Echelon form. You must bring it completely to this form.
Back substitution:

Equation (3") cannot be satisfied: there is no solution.



Bases

A basis dy,ds,...,d, to a space is a chosen set of vectors so that any vector Z in the space
can be uniquely expressed in terms of the basis vectors:

f:cld'1+02§2+...+cn§n

Example: 1, ), k are a basis to coordinate space:

~
~

7=+ yj+ zk

Basis vectors must be independent, which means you need all of them to express any arbitrary
vector in the space. If some basis vector can be expressed in terms of the others, you do not
need that vector and should throw it out.

For example if 2 would be j+ k then you would not need it, since zi could then be written as
x)+ zk. But there is no way to get 2 from a linear combination of 7 and k

To check independence of supposed basis vector dy, ds, ..., d,, verify that
0161+0262+...+Cn6n20
only when all coefficients ¢y, co, ..., ¢, are zero.

Why this works: If, for example, ¢; would be nonzero, you can take c;a; to the other side and
divide by —c;.



3.57(a)

1 3.57(a), §1 Asked

Given:

Asked: Express

in terms of iy, s, and us.

2 3.57(a), §2 Solution

We need ¢y, co, and c3 so that
U= Clﬁl + CQ?IQ + 0363

In matrix form:

Forward elimination:

1 1] 4 (1
(0 2] -5 17) ((2’)(2
0 3 3|6 (3)=(3) +
1 1| 4 (1)
( 0 ~5 17) ( (2)
0 0 63 (3") =2(3") = 3(2)




Back substitution:
From (3"), ¢3 = 3; from (2'), co = —1; from (1), ¢; = 2.

If the right hand side ¥ would have been zero, the only possible values for ¢y, ¢o, and ¢3 would
be all zero. A set of vectors is dependent if you can create zero from them with some nonzero
coefficients. (This allows you to express one of the set in terms of the others.)

Since you cannot do so with uy, us and us, they are independent vectors.

Also, since you can find a solution for any vector v, you can express any vector in terms of uy,
ug, and uz. Vectors for which that is true are called a basis, in this case for three-dimensional
vector space.



Row-canonical form

1 Row Canonical

Row canonical form:

e also zeros above the pivots;

e the pivots are normalized to one.

Example echelon form

2 -1 3 (1)
0 0 [6] -3 (2')
00 0 0 (3"
Example canonical form
2 0 2%1 (1; = (11),+%(2’)
0 0 [1] -1 (2") = 5(2)
00 0 0 (3")
Note that , .
2 0 251 31§ (1:/)
0 0 —3 | 2 (2")
0 0 010 (3")

0
directly solves to z = 3% — 2y — 2%75 and z = % + %t.

To obtain a row-canonical matrix, first reduce to echelon form. Next eliminate all nonzero
elements above the pivots, starting from the last one, and divide each equation by its pivot.

2 Operations Counts

To solve a reasonably sized system of n equations in n unknowns, the amount of work the
computer must do varies with algorithm. The operations the computer must do are mostly
additions and multiplications, and the number that must be done is roughly:

e Cramer’s rule: n! operations (prohibitive);



e Gaussian Elimination/LU-decomposition: reduce to echelon form at %n?’ operations;
e Gauss-Jordan: reduce to row canonical form at %n?’ operations;

e Matrix inversion: n3 operations.

Note that Gausian elimination can be much more efficient still for sparse matrices (i.e. matrices
with a lot of zeros.) Always use the most specific algorithm for your matrix.



3.61(b)
1 3.61(b), §1 Asked

Given: A matrix

Asked: Reduce the matrix to echelon and row canonical forms.

2 3.61(b), §2 Solution

2 -1 2 1 (1)
A= 2 4 1 -2 3 (2)
( 3 6 3 -7 7) (3)
2 -1 2 1 (1)
(o 0 —6 1) (2) = (2)
0 0 6 —13 4 (3) = (3)
2 —1 1 (1)
(0 0 —6 1) (2)
0 0 0 2 (3") = (3") = 2(2)
This is in echelon form.
2 -1 0 5 (1) = (1) +2(3")
( 0 0 0 11) (2") = (2') — 6(3")
0 0 0 -2 (3") = —(3")
2 0 0 3 (1”)=(1)
( 0 0 0 131) (2") = 3(2")
0 0 0 2 (3")

This is row canonical form.

W=



Null spaces

1 Null spaces

The null space of a matrix A are all vectors & so that AZ = 0. If A is square and |A| is
nonzero, the null space is simply £ = 0 and has dimension 0.

Nontrivial null spaces may correspond to internal stresses in structures, connectivity problems,
vibrational mode shape, buckling shapes, eigenvectors corresponding to a given eigenvalue,
etcetera.

You typically want to describe the null spaces as simply as possible. Defining a basis for the
null space allows you to do so.

2 2D Example

Forward elimination:



Back substitution: z = —2y. So, the null space is a line through the origin:

Vector form:

=(3)=(7)r

so that (—2, 1) is one possible basis vector for this line. A line is a one-dimensional space, so
it needs exactly one basis vector.

3 3D Example

(@ -2 -sl0)

Forward elimination is trivial.

Back substitution: z = 2y + 3z. The solution space is a plane through the origin:

Vector form:

z 2 3
r=1y |=|11]y+]| 0|z
z 0 1

so that (2,1,0) and (3,0, 1) are one possible set of two basis vector for this plane. A plane is
a 2D space.



4 12D Example

Assuming there is no external force, i.e. F =0 in the truss below,

T1 1
TQ 1
T3 -1
T4 -1
T5 1
T6 —1
T7 - -1 Tl 2
Ts 1
Ty -1
Tio 1
T1 1 1
Tlg 1

All bars in the outer ring have the same tension force 75, while the spokes have an opposite
compressive force.



1.53

1 3.60(a), §1 Asked

Asked: The dimension and a basis for the solution space of the following homogeneous

system:
1 3 2 -1 —110 (1)
(2 6 5 1 -1 0) 2)
)

(
512 1 -3/0 (3)

—_

2 3.60(a), §2 Solution

We need the null space of the matrix:

3 2 -1 -1 (1)
2 6 5 1 -1
5 15 12 1 -3

Forward elimination:

3 2 -1 -1 (1)
( 0 0 3 1 ) (2') = (2) — 2(1)
00 2 6 2 (3") = (3) — 5(1)
3 2 -1 -1 (1)
( 0 0 3 1 ) (2)
000 0 0 (3") = (3") —2(2)
Continue to row canonical:
3 0 -7 -3 (1) = (1) — 2(2)
( 0 0 3 1 ) (2)
00 0 0 (3")

Back substitution:

From (3”), nothing; from (2), z = —3s — ¢; from (1’), x = —3y + 7s + 3t. Variables y, s, and
t cannot be determined: space is 3D.



Vector form;

x -3 7 3
Y 1 0 0
z | =y 0 +s| =3 [+t| —1
s 0 1 0
t 0 0 1

The three vectors in the right hand side form a basis for the solution space.



Inverse matrices

Inverse matrices computed with minors are very bad news for matrix sizes more than say 2
or 3.

Inverse matrices are usually bad news anyway. They waste operations, storage, and tend to
decrease numerical accuracy. This is especially so for sparse matrices.

If you really need the inverse matrix, augment the matrix to be inverted with the unit matrix
and reduce to row-canonical form. The inverse matrix will then be in the right hand side.

Partial pivoting may be used as needed.



3.67(c)

1 3.67(c), §1 Asked

Asked: Find the inverse of

—
—_ N
~J 0 W
[
— W N
~

2 3.67(c), §2 Solution

Augment with the unit matriz:

1 3 =2{1 00 (1)
2 8 =3|0 10 (2)
1 7 110 0 1 (3)
Reduce to row canonical:
1 3 -2 1 00 (1)
0 2 11-2 1 0 (2 =(2) —2(1)
0 4 3/—-1 0 1 (3 =
2 0 =71 8 =30 (1) =2(1) — 3(2)
0 2 1] -2 10 (2")
00 1 3 =21
0

0
1

0
0
0 01

The inverse matrix is at the right. Verify that AA~! = I.

-5 3 -1 (2")
3 -2 1 (3")

/
o O N
o NN O

29 —17 7) (17)

O =
— O

—-25 15 =05
3 =2 1

145 —8.5 3‘5) (1)

(3")

(1) +7(3")
(2) - (3

(2///) —



Introduction

The span of a set of independent basis vectors a1, ds, . .., @, is the set of all vectors ¢ that can
be described as linear combinations of the basis vectors:

U= 0161 + 6262 + ... Cnan
e One basis vector spans a line:
U= cld’l
is a 1D straight line through the origin.

e Two basis vectors span a plane:
U = c10y + Caly
is a 2D plane through the origin.
e Three basis vectors span a 3D space:
U = ¢1d1 + Cols + 303
is a 3D space through the origin (in n-dimensional space.)
Remember the definition of independence: the basis vectors are independent if the only way

to get zero is to take every c; zero. It implies that you cannot express one basis vector in
terms of the rest.

e Two vectors are linearly independent if they are not along the same line.

e Three vectors are linearly independent if they are not in the same plane.

The rank of a matrix is the number of independent rows, or columns. These are the same; see
the example.



4.89(a)

1 4.89(a), §1 Asked

Asked: Are (1,2,-3,1), (3,7,1,-2), and (1,3,7,-4) independent?

2 4.89(a), §2 Solution

Most straightforward is to do Gaussian elimination with the vectors as rows:

1] 2 -3 1 i

3 7 1 -2 U2
1 3 7 —4 s
2 -3 1 i
0 10 —5 Uiy = iy — 3l
0 1 10 -5 Uy = U3 — Uy
2 -3 1 iy
0 10 =5 )
0 0 0 0 = iy — i,

The vectors are linearly dependent, since the third vector is all zero. The rank of the matrix

is 2: there are only two independent rows.

We can clean up a bit more by going to canonical:

10 —23 11 i
01 10 —5 i,
00 0 0 !

The space spanned is then the set of linear combinations of the two simplified vectors. The

first vector is normal to the y-axis, the second is normal to the x-axis.

The alternate procedure uses the vectors as columns:

Uicy + Uacy + tUscz = 0



should have no nontrivial solutions for linear independence. Note that this produces the
transpose matrix from the one above:

1] 3 1 (1] 3 1 (1] 3 1
2 7 3 0 [1] 1 0 [1] 1
31 7| = o 1w w|| = o 0o
1 -2 —4 0 -5 —5 0 0 0

Since the solution of the system c;, ¢, and c3 can be nonzero, the vectors are linearly depen-
dent.

The number of independent rows in this matrix, which is the number of independent columns
in the first matrix, is again 2. So the rank is 2 whether I look at rows or columns.

Why is the rank the same whether I take the vectors as rows or columns? Well, since there are
two independent vectors (let’s take them as the first two,) I can take c3 whatever I want and
only find unique values for ¢; and ¢y given c3. That means there must be two nonzero pivots.
So the number of independent row vectors established in the first method must be the number
of pivots in the second method. And the number of pivots is the number of independent row
vectors in the second matrix.



4.104(b)

1 4.104(b), §1 Asked

Asked: Find the rank of the matrix

1 2 -3 =2
1 3 =2 0
3 8 =7 =2
21 -9 —10

2 4.104(b), §2 Solution

1 2 -3 =2 (1)
1 3 =2 0 (2)
3 8 =7 =2 (3)
21 -9 —-10 (4)
I expect the rank to be 4.
1 -3 =2 (1
o 1 1 2 (2 =1(2)—-(1)
0o 2 2 4 (3" =(3) = 3(1)
0 -3 -3 6 (4)=(4)—2(1)
I already see it is not.
2 -3 -2 (1
0 12 (2
0O 0 0 0 (3") = (3') —2(2)
0O 0 0 0 (4" = (4") — 3(2)

True rank is 2. There are only two independent row vectors in the matrix. There are only
two independent column vectors in the matrix.



Basis Changes

1 Simple example

Student request: change notations. Mine seem better than the book’s, though. I think the books
exposition (p207-210) is very confusing, partly by not using vector symbols to indicate vectors
versus coordinates. I suggest you stick with my exposition.

To solve problems, it is often desirable or essential to change basis.

As an example, consider the vector of gravity g. If I use a Cartesian coordinate system 2, j with
the z-axis horizontal, the vector § will be along the negative y-axis. I will call this coordinate
system, (7,7), the F-system.

Using the E-system, I can write the vector ¢ as:

Gg=0i—g) or *‘ (Y
g= 9] 9=\ _ g
In other words, the coordinates of vector g in the E-coordinate system are ¢ by = 0 and

g2\, = —4.

But if, say, the ground is under an angle # with the horizontal, it might be much more
convenient to use a coordinate system E*, (7%, 7*), with the x-axis aligned with the ground:




In this new coordinate system, the coordinates of g will be different. With a bit of trig, you

(o)

The coordinates of vector ¢ are now gl’E* = —gsin(f) and gg‘

g = —gsin(0)i* — gcos(0)j* or g

e = 9 cos(0)
What if I need to change the coordinates of a lot of vectors from one coordinate system to
the other? Is there a systematic way of doing this? The answer is yes; the following formula

applies:
5

So the transformation of coordinates can be done by multiplying by a matrix P. This matrix
consists of the basis vectors of the new coordinate system E* expressed in terms of the old
coordinate system F.

Ak

o, =Po . with P= ("] j

E

In particular,

i =cos(f)i +sin(f)) so

J* = —sin(f)i+cos(f)j] so J*

and matrix P becomes:
p_ cos(f) —sin(6)
~ \ sin(d)  cos(0)

Let’s test it: P times the coordinates of vector ¢ in the E*-system should give the coordinates

in the E-system:
cos(f) —sin(0) —gsin(6)
sin(f)  cos(0) —gcos(h)
Multiplying out gives 0 and —g, which is exactly right.

Matrix P is called the transformation matriz from E to E*. Note however that it really
transforms coordinates in the E*-system to coordinates in the E-system. You just have to get
used to that language: a transformation matrix from A to B transforms B coordinates into A
coordinates. No, I do not know who thought of that first.



What if you really want to transform FE coordinates into E* coordinates? No big deal: just
multiply by the inverse matrix P~

2 General

The basis vectors do not have to be orthogonal, as in the example. In general, suppose I have
a basis S, {1, Us,...,U,}. Then any arbitrary vector & can be written as

@ = wn| ity + wa| T+ .+ w G
1 g 1 2 S 2 n g n
where wi|g, walg, . . ., wy| g are the coordinates of w in basis S. More briefly,

w1

wl = wWa

Wn,

Suppose I have another basis S’, {0}, ¥, ..., U, }. Then the same vector «w can also be written
as

S,vl -+ wo S/UQ +...+w, S'U”

or
wq

— w2

Wn,

S/

The relationship between the two sets of coordinates is always

w\ —Pw
S S’

where P is a matrix that is called the transformation matrix from S to S’. (Although it really
works the opposite way.)

Matrix P takes the form:

P:(U\ 17\ 17\)
Hg72ls g

It contains the basis vectors of the S’ system written in the S system. (That is why if I
multiply with P, I get a vector in the S system.)

To get the transformation the other way, use the matrix P~



6.47(a)

1 6.47(a), §1 Asked

Given: A new basis S = {u;,u>}. The new basis vectors can be expressed in terms of the
original Cartesian basis E = {7, j} as u1|p = (1,2) and @|; = (3,5).

Asked: Find (1) the change of basis matrix P from E to S; (2) the change of basis matrix
Q@ from S to E; (3) the components (a/,b") of an arbitrary vector ¢ in the S basis if ¢ has
components (a,b) in the Cartesian coordinate system (v = a2 + b).)

2 6.47(a), §2 Solution

The basis vectors of the S-system are given in terms of the F-system, so, to get the transfor-
mation matrix, we simply put them as columns of the matrix:

S S 1 3
PE(UI‘EM‘E):(Z 5)

Let’s check this, just to be sure. The arbitrary vector ¢ can be expressed as

Uv=ai+b)=di + b,
SO
!
o, =y ) =, V], = (@] ], ) d
v = =a'u b’ = (U] U = Py
‘E (b) 1 T 02|, Hg™2g) \ ¥ S
Since
17\ :P”ﬁ’
s E



the transformation matrix @) from S to E is

—1

(1)-(

Soa = —5a+3band b = 2a —b.

- 1 5
0-rm- L (

)
2



6.48

1 6.48, §1 Asked

Given: A basis S = {u, U} and another basis S" = {#},U»}. The basis vectors of S can be
expressed in terms of the Cartesian basis £ = {i, ]} as @] = (1,2) and 4|, = (2,3) and
those of S as 1|, = (1,3) and 04|, = (1,4).

Asked: Find (a) the change of basis matrix P from S to S’; (b) the change of basis matrix
Q@ from S’ back to S.

2 6.48, §2 Solution

By definition, for any vector w,

—

w| = Pw

‘S S’

where P contains the basis vectors of the S’-system in terms of the S-system. Unfortunately,
these basis vectors are given in terms of the E-system, not the S-system.

Trick: go over the F system:

So




Transforming Matrices

We saw that a transformation matrix P from an old basis S to new basis S’ transforms between
7 (= 5]5) and 7' (= ﬁ\s,) as:

‘17:]317' or17’:P’117‘

A square matrix A transforms similarly, but has in addition the inverse of the transformation
matrix at the far right:

|A=PAP ' or A = P~'AP]

The need for two transformation matrices comes from the fact that a matrix provides a
transformation of vectors. Given an “original vector” Z, multiplying by matrix A produces an
“image vector” y = Ax. When we change coordinates, one transformation matrix is needed
to transform Z, the other to transform y:

7 =P =P ' (A¥) = P'APY

So the matrix that transforms 7’ into 3 is P~*AP.



Gram-Schmidt

Description:

Gram-Schmidt orthogonalization is a way of converting a given arbitrary basis {u, Uy, . .., U, }
into an equivalent orthonormal basis:

3

This often leads to better accuracy (e.g. in least square problems) and/or simplifications.

Modified Gram-Schmidt Procedure

Given a set of linearly independent vectors, 1, i, . . ., turn them into an equivalent orthonor-
mal set 77,7, ... as follows:
Step 1:

1. Normalize the first vector @;. That will be your )

» Uy
7/1 — .
|| ]]
2. For the remaining vectors s, s, ..., eliminate their component in the direction of 7
2y U3 ) 1

using the following formula:

—x = A (~NH =
U =U; — 1 <Z1 uj>



Note that #{7u; = ||2}]||]d;|| cos @ = ||t|| cos @ is the component of @; in the direction of 7}:

u;

&

xf’ N
ty COS o) iy

Also 2#iu; = proj(i}, @;). The matrix 2;#;" is called the projection operator onto 2.

Ignore 7] in the remaining process.

Step 2:

1. Normalize the second vector 5. That will be your 2

%
Uy

5=

1

N ¥

2. For the remaining vectors s, iy, ..., eliminate their component in the direction of 7

using the following formula:

oxk %~ (AT H %

Ignore 7, in the remaining process.
Repeat the process along the same lines until you run out of vectors.

Graphical example:




Normalize u;:

Eliminate the components in the u; direction from the rest:

Normalize s:




Normalize ws:

A



7.21

1 7.21, §1 Asked

Given: The basis vectors

V1 = Vo =

—_
=N

-3

Asked: Find (a) an orthogonal basis for the space spanned by ¢, U, and 93; (b) an orthonor-
mal basis for the space spanned by v}, v, and v3.

2 7.21, §2 Solution

Since an orthonormal basis is orthogonal, I only need do (b).

1 1 1
11 11 2
I 2702 R
1 4 -3
Normalize vy:
1
: t
A~ Ul §
11 = - = 1
bl ?
1
2
Get rid of the ?}-components:
1 : 1
e e H 1 1 1
Uy = Ty — iy U = 9 |~ ; (% 3 3 %) 2
4 5 4
1 : —1
1 5 -1
_ _ 2 _
= 2 P 0
4 3 2



(

_
—

T
N—
I

—

Normalize v3:

-components:

~
(5)

Get rid of the

—

oM e) —

N——

_
—

e
N——
I

~—

(o I (o B (I (|
| >M| >O| >N
[Io I B TR YA T B ()

Normalize v3*:



Introduction

Determinants are most of the time not very useful:

e The system 0.1z; = 0.3, 0.1z = 0.3, ..., 0.1z, = 0.3 is pefectly well solvable, but |A]
will underflow on typical computers for values of n as low as 40.

e Direct evaluation of a determinant of an n x n matrix takes n! multiplications. The
big bang was about 5107 seconds ago; evaluating a 70 x 70 determinant takes 10!
multiplications. (And allows an interesting possible accumulation of numerical errors.)

Small determinants may be convenient.



1 8.41(a), §1 Asked

Asked:
1 2 2 3
1 0 -2 0
3 —1 1 -2
4 -3 0 2

2 8.41(a), §2 Direct

Put in a checkerboard sign pattern (starting with +):

1t 2= 2t 3
1= 0t —2=  0f
3t —1- 1t —2-
R L D

Al =

Select a row (or a column) and expand in signs, coefficients, and minors. Here the second row
may be best:

2 2 3 1 2 3
Al=—1)] =1 1 =2 |—(=2)|3 -1 =2
—3 0 2 4 -3 2

Repeat for each of the smaller determinants until the determinants are small enough to be
directly written out, eg,

la| = a CCL 2|:ad—bc
a b c W R X |4 b
d e f|=aei+bfg+ cdh—ceg— afh— bdi d X XX e
g h i g KA R



3 8.41(a), §3 Elimination

1 2 2 3 (1)
|1 0 =2 0 (2)
Al = 3 -1 1 =2 (3)
4 -3 0 2 (4)
Interchange rows:
10 -2 0 (1) =(2)
A= 1 2 2 3 (2" =(1)
13 -1 1 =2 (3)
4 -3 0 2 (4)
Substract multiples of the first equation from the rest:
1 0 -2 0 (1)
_|A| = 0o 2 4 3 2"y =(2") — (1)
10 -1 7T =2 (3" =(3) —3(1)
0 -3 8 2 (4") = (4) —4(1)
Interchange the second and third equations:
1 0 -2 0 (1)
A = 0o -1 7 =2 (2" = (3)
10 2 4 3 (3" = (2")
0 -3 8 2 (4") = (4) —4(1)
Substract multiples of the second equation from the rest:
1 0 -2 0 (1)
4] = 0 -1 7T =2 (2")
|0 0 18 -1 (3" = (3") +2(2")
o 0 —-13 8 (4" = (4") — 3(2")

Replace the fourth equation by a combination of the fourth and third:

1 0 -2 0 (1)
0 -1 7 =2 2"
BAI=10 o 18 -1 23"'3
0 0 0 131 (4) = 18(4") 4 13(3")

The determinant of a triangular matrix is the product of the elements on the main diagonal:

18|A] = (1)(~1)(18)(131) = |A] = —131



Introduction

Eigenvalues:

e buckling;

e modes of vibration;

e dynamical systems:;

e principal axes;

e boundary layer instability;

e heat conduction;

e acoustics;

e clectrical circuits;

e stability of numerical methods;

e cxam questions;

Definition

A nonzero vector v is an eigenvector of a matrix A if Av is a multiple of o
AT = MU

The number A is called the corresponding eigenvalue.

Graphically, if ¢'is an eigenvector of A, then the vector A¥ is in the same (or exactly opposite
direction) as "

A

i

An eigenvector is indeterminate by a constant that must be chosen.



Example

Equations of motion:

6, 0,
M1 - K —
() o) =0

MO+ KO =0

Setting 6 = (61, 05)

Premultiplying by M ~! and defining A = M 'K,

0+ A0 =0
Try solutions of the form 6 = C'e™'. The constant vector C determines the “mode shape:”
01/65 = C1/Cs. The exponential gives the time-dependent amplitude.
Plugging the assumed solution into the equations of motion:
—w*C+ AC =0 — AC = w*C

So the mode shape C'is an eigenvector of A and the corresponding eigenvalue gives the square
of the frequency.

There will be two different eigenvectors c , hence two mode shapes and two corresponding
frequencies.

Note: we may lose symmetry in the above procedure. There are better ways to do this.
Procedure

To find the eigenvalues and eigenvectors of a matrix A,



1. Find the zeros of the determinant |A — AI| (i.e. of matrix A with —\ added to each
main diagonal element.) (The book uses AI — A. This is very error-prone, and I do not
recommend it.) For an n x n matrix A, |A — M| is an n-th degree polynomial in \.
From it, we can find n eigenvalues Ay, Ay, ..., A,, (which do not all need to be distinct,
however.)

2. When the eigenvalues are found, for each eigenvalue \; the corresponding eigenvector(s)
can be found as the basis of the null space of A— \;I. Note: Do not leave undetermined
coefficients in eigenvectors. This is counted as an error.



Eigenvector Basis

Examples:

e decomposing motion along the fundamental modes;

writing solid body motion along the principal axes;

separation of variables;

e improving numerical schemes;

Diagonalization:

If we use the eigenvectors vy, v, . . . , U,, of a matrix A as a new basis, so that the transformation
matrix P contains the eigenvectors:

P:<171,172,...,17n),

then the transformed matrix A’ is much simpler than the original A. In particular, it is
diagonal:

AN O 0 -+ 0
0O X 0 --- 0
A/: O O )\3 0
0O 0 0 - A,

Reason: for any arbitrary vector

7 +w2‘5172+...+wn‘ 7,

w’:wl‘ U

S

then
Al = wl\SA161 + wQ]SAQUQ +.+ wn\sAnﬁn

So A increases the first coordinate in the eigenvector basis by A1, the second by \,, etcetera.
That is exactly what the diagonal matrix A’ does with the vector of coefficients (w, o W2 wn‘s).

S?
Remember that the relationship between A and A’ is

A=PA'P'or AA=P AP

Note: If an n x n matrix A has less than n independent eigenvectors, it is not diagonalizable.
It is called defective. Most matrices are however diagonalizable:



e As long as all n-eigenvalues are distinct, the matrix is diagonalizable.

e Normal matrices, which commute with their transpose, AA” = AH A, always have a
complete set of orthonormal eigenvectors anyway.

e Even if the matrix has less than n different eigenvalues and is not normal, it might still
be diagonalizable.



9.47

1 9.47(a), §1 Asked

Given:
5 6
a=( 3 )

Asked: All eigenvalues and linearly independent eigenvectors.

2 9.47(a), §2 Solution

Eigenvalues:

A=MI=1 Ly 9y

There are two roots: A\ =1 and Ay = 2

|5_A 0 |:)\2—3)\+2:O

The eigenvector corresponding to A; satisfies

- o—1 6 -
(A—)\lf)vlz():( _9 _2_1>Ul

Solving using Gaussian elimination:
4 610 n 60 (1)
-2 =310 (2) 0 00

Equation (1) gives vy, = —%vly. In order to get a vector, instead of a set of possible vectors,

one component must be arbitrarily chosen. Remember: undetermined constants in eigenvec-
tors are not allowed. To get simple numbers, take vy, = —2, then vy, = 3:

i)
w3 8)(2)-(2)

Note: the null space of the matrix above is

Check:



SO (—%, 1) would also have been an acceptable eigenvector, just messier.

The eigenvector corresponding to A\ satisfies
L [ 5=2 6 .
(A—Ag[)?]g()( _9 _2_2>’01

Solving using Gaussian elimination:

(—g —Z D 8 — (g SD 8):3(2)%(1)

Choosing vy, = 1, then vy, = —2:

3 9.47(b), §1 Asked

Given:

(52

with eigenvalues and corresponding eigenvectors

A1=1,«71=<_‘;’> A2=2,62=<_f>

Asked: A matrix P such that A’ = P71 AP is diagonal.

4 9.47(b), §2 Solution

e The matrix P~1AP is the new matrix A’ after a basis transformation described by a
transformation matrix P.

e To get A’ diagonal, we want to take the new basis to be the eigenvectors v; and U5 of A.

e A transformation matrix consists of the new basis vectors expressed in terms of the old
basis, so:



Check:

werar=( 32)7( 3 8) (50
(3 (2 9)-()

5 9.47(c), §1 Asked

Given:

(42

with eigenvalues and corresponding eigenvectors

A1:1,171:<_§> )\2:27172:<_?>

Asked: A% and A* — 543 4+7A4%2—-2A4+5

6 9.47(c), §2 Solution

Do it first in the eigenvector basis!

, (10 6 (1°0Y) (1 0
A‘(o 2) = 4 _<o 26>_<0 64>

This works for diagonal matrices only.

Now transform back:

—1
6 __ 16 -1 3 —2 1 O 3 —2
AV = PATP _<—2 1)(0 64)(—2 1)

o 3 128\ L (1 2\ _( 253 378
“l—2 61 ) 7 23) T\ —126 —188

Note that this is very different from



(Answer in the book is for A0

Au:<é g) — A" 547 4 TA” 24 5] =

114 =5134712-2145 0\ _ (6 0
0 24 -5284+722-224+5 )~ (0 5

-2 1 0 5 -2 1

(18 -0\ 1 12\ (2 -6
“\-12 5)Z1 l23) Tl2 9

7 9.47(d), §1 Asked

-1
#—a@+n¥_muw1:< 3—2><60>< 3—2>

Given:

(22

with eigenvalues and corresponding eigenvectors

Al—l,fm—(_‘;’) )\2_2,772_<_?>

Asked: A matrix B so that B2 = A

8 9.47(d), §2 Solution

Do it first in the eigenvector basis!

(1) = oo (3 %)

This works for diagonal matrices only.

Now transform back:

B:PB’P—1:<_§ —?)((1) \/g)(_g _?>_1



-(38)A( ) - (3 1)



9.48(c)

1 9.48(c), §1 Asked

Given:

Asked: All eigenvalues and linearly independent eigenvectors.

2 9.48(c), §2 Solution

Eigenvalues:

1—X 2 2
1 2-Xx -1
-1 1 4=

= N4 -15A+9=-A-1)(A=-3)?=0

0=|A—\|=

There is a single root: Ay = 1 and a double root Ay = A3 = 3

Eigenvectors corresponding to A\; = 1 satisfy

1-1 2 2 V1,
(A—)\lj)ﬁl =0= 1 2—1 -1 Uly
-1 1 4-1

Solving using Gaussian elimination:

11 -1]0 (1) = (2)
— 02 2 o) (2) = (1)
(-1 1 3]0 (3)
11 =10 (1)
— (o 2 20 (2)
02 210 (3 =(3)+ (1)




1 —1]0 (1)

— 0 210 (2')
0 0 00 (3") = (3) = (2)
Equation (27) gives v1,, = —v;, and then (1’) gives vy, = 2v,.
The general solution space is:
Vig 2
U1y = —1 V1,
V1, 1
We choose v, = 1 to get
V1g 2
_‘1 - /Uly - -1
V1, 1
Eigenvectors corresponding to Ay = A3 = 3 satisfy
1-3 2 2 (o
(A_)\QI)UQZOZ 1 2—3 -1 Ugy

-1 1 4-3 Vs,

Solving using Gaussian elimination:

-2 2 2]0 (1)
1 -1 —-11]0 (2)
-1 1 1]o0 (3)
2 2100 (1)
= 0 0 0|0 (2') =2(2) + (1)
0 0 0|0 (3") =2(3) — (1)

Equation (17) gives vy, = va, + v2,. There are two unknown parameters.

The general solution space is:

U2y 1 1
Ugy = 1 ’Ugy —+ 0 Vo,
V2, 0 1

We need two independent eigenvectors to span the space corresponding to this multiple root.

We can use the two vectors above, which means choosing vy, = 1 and v, = 0 for one, and

v, = 0 and vy, = 1 for the other. That gives
V2a g 1 Voby 1
Ugqg = | Vaay | =] 1 Uy = | vy [ =] O

V2a 0 Vb, 1



If the three vectors ¥, vs,, and vy, are used as basis, A becomes diagonal. So despite the
multiple root, this A is still diagonalizable. But if the solution space for the second eigenvalue
would have been one-dimensional, the matrix would not have been diagonalizable.

Y



Symmetric Matrices

Definition
A matrix A is symmetric if AT = A.

Ezxamples:

mass and stiffness matrices found from the Lagrangian equations;

finite element methods for structures, fluids, ...;

inertia matrices of solid bodies;

Diagonalization:

e Symmetric matrices have real eigenvalues.
e Symmetric matrices always have a complete set of independent eigenvectors.

e These eigenvectors are (or at least can be taken to be) orthonormal.

For symmetric matrices, in this class you are required to orthonormalize the eigenvectors.
As long as the null space of each eigenvalue has only one basis vector, this simply means
normalizing the eigenvactor to length one (i.e. divide by its length.) If the null space has
multiple basis vectors however, you will need to apply Gram-Schmidt on them or equivalent.

In either case, the result is that the eigenvectors to are an orthonormal set that we can indicate
as 7,7, K, ..., and is no more than a rotated coordinate system. In other words, symmetric
matrices are diagonalized by merely rotating the coordinate system.

As was mentioned in chapter 2, since the transformation matrix P = (7,7, K. .) has or-
thonormal columns, it is called an orthonormal matrix. For any orthonormal matrix

pt=p"

Ezample:

Kinetic energy of a solid body:



S+ 2%) dm [xydm [xzdm
I= [xydm [(z? + 2%)dm [yzdm
[zzdm [yzdm [(2? 4+ y*)dm

where the x,y, z axis system has its origin at the center of gravity.

By rotating the z,y, z axis system to the principal axes of the body, the inertia matrix [
becomes diagonal.

For a disk:

If you write the inertia matrix for a disk and find the eigenvalues, you will find one single
eigenvalue and one double eigenvalue, giving the moments of inertia along the principal axes.

The eigenvector corresponding to the single eigenvalue will be in the ' direction; just normalize
it to length one to give 7.

The eigenvector solution space corresponding to the double eigenvalue will have two indepen-
dent basis vectors. Use Gram-Schmidt on them to orthonormalize them, that will poduce
your 2 and k'.

The axis system 7', 7, k' are the principal axes of the disk.



9.56(a)

1 9.56(a), §1 Asked

Given:
5 4
a= (1)

Asked: The orthonormal transformation matrix P so that A’ = Pt AP is diagonal.

2 9.56(a), §2 Solution

Given:
5 4
(1)
Eigenvalues:
1 5=A 4 2 B
]A—)\I]—‘ 4 _1_)\|—)\—4)\—21—0

There are two roots: Ay = =3 and Ay =7
The eigenvector corresponding to A\; = —3 satisfies

8 4 (1) . 8 4 (1)

4 2 (2) 00 (2 =2(2) - (1)
Taking vy, = —2, then vy, = 1, giving an eigenvector (1,-2). Normalizing this vector to length
one gives:

. (1 oz [ UV
() - (4
The eigenvector corresponding to Ao = 7 satisfies

(721 _;l\) 83 - <_§ 3‘) §§?>:<2)+2<1>

Taking vy, = 1, then vy, = 2, giving after normalization:

o=(1) /7= (0%)



Finally:
’ P (8 = 1/vV5 2/v/5
=)= %5 1vs

Check:

e (42 1) (02420 -(2)

The diagonal form is what matrix A looks like in the coordinate system 2/, 1’ shown below:

F
},.-

v2
a7°

¥

J;-n'




Quadratic Forms

Examples:

quadratic curves (circles, ellipses, hyperbolae, parabolae) and surfaces (spheres, spheroids,
ellipsoids, cones, cylinders, ...);

kinetic energy of solid bodies;

potential energy near equilibria;

Matrix form:

fTA[f CLHI% + 127129 + A13T1T3 + . . .

2
a91Tox1 + A22T5 + 2323 —+ ...

+ + |

An orthonormal transformation leaves the quadratic form unchanged
FTATY = # P PTAP PTZ = i A
but can simplify the coefficients. On principal axes

ST Alt=t 1 12 ro12
T AT = a2 + Ay + ..



9.58(b)

1 9.58(b), §1 Asked

Asked: Diagonalize
q(z,y) = 22" — 6xy + 10y°

2 9.58(b), §2 Solution

q = 2% — 6zy + 10y°

2 -3
A‘<—3 10)

2—X =3
-3 10—-A

Find the matrix of coefficients:

Eigenvalues:

|A—)\]|:| ‘:/\2—12)\+11:0
There are two roots: A\ =1 and Ay = 11

The eigenvector corresponding to A; satisfies

(_; _§D 83 - <(1) _3\) g')>:<2>+3<1>

Taking vy, = 1, then vy, = 3, giving an eigenvector (3,1). Normalizing this vector to length

one gives:
= (1) = () -

The eigenvector corresponding to Ay satisfies

(:2 :?D 8 - (‘3 _3]) g')>:3<2>—<1>

Taking vs,, = 3, then vy, = —1, giving after normalization:

o () s (4 -



Since 1/4/10 = sin(18.4°), the new axes are rotated 18.5° counter clockwise from the old:

In the new coordinates,

qg= :UIZ + 11y/2

Note that lines of constant ¢ are now seen to be elliptic.

Important note: It is seen that the quadratic form 7 AZ is always positive for nonzero .
Symmetric matrices for which this is true are called positive definite. They have all positive
eigenvalues. Similarly, if all eigenvalues are negative, a symmetric matrix is called negative
definite. If all eigenvalues are positive or zero, it is called positive semi-definite.

Finite element codes for structures typically produce positive definite matrices, as do many
other physical applications, such as the kinetic energy of a solid body. Definite matrices are
typically easier to deal with in numerical applications than general matrices. For example, no
pivoting is needed in the Gaussian elimination involving a definite matrix.



